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Int num;
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#include <stdio.h>
#include <stdlib.h>

int main (){

int num;

num = 3; - IEEEAER
printf("%d\n", num); IEEE T =
return 0;

}
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int CERIEZZEE (integer) ; -

float 1%%5@%5?%55&(1:'08’[) ° _ﬂﬁlz*zgﬂjﬂiﬂ—'—ﬁ/\\%ﬂ E r%: _%E':'E/]'fﬂiﬂ:
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int num;
num = 3;
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B - £ F printf

. WEBIZEEE#iINnclude <stdio.h> -

« printf("%d", num);
" RER—(EAFEREBEGR -

% : BIRFIT - NRprintf EBRAIAS -

d : DITiEM(decima)WE N B REEE - d ZETHIEME
num (lRRE&num=3) -
, L EBRARS R —ER TV RZHIE - A0 & W E R -

printf( “%d %d" , numl, num2);
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Extended concept
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#include <stdio.h>

int main( ){
int a;
int b;
a=11;
b=12;
printf(“%sd \n”,a);
printf(“%sd\n”,b);
return 0;

=% int a,b;




2 : (R ENEBEARN , Al BN Bt

#1include <stdio.h>

int main( ){

int cat;

cat=3;

printf(“There are %d cats. \n”,cat);
return 0;
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2 int %d

k| float %f
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#include <stdio.h>

int main( ){

float a;

a=11.11;

printf(“sf”,a); - B
return 0;

) 11.110000
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#include <stdio.h>

int main(){

float a;

a=11.11;

printf("%.2f",a); © OB
return 0;

) 11.11
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2bytes (16Msc%#4t) -327682327675k

304 o)

=M I = 4bytes -2147483648% 2147483647 e
-214748364822147483647 =X

REH long int 4bytes 5§ 8bytes  -9223372036854775808% %ld
9223372036854775807

: -9223372036854775808 %
®Y

REZ long long int 8bytes 9223372036854775807 %lld

Ei5EFMEl float 4bytes 2.939x103823.403x10+38 (7 sf) %f

L3RR double 8bytes 5.563x10-309%1.798x10+308 (15 sf) %l f

FIT char 1bytes R 5-12881278L0& 255 %c
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